(]
4371%1= 2R 0IE FE O I“-I“I‘

oF% ZJAP} 9l SafAE

roll
in

=5 4Y/HIE o[0ix|

oY
x THE:

Ct2l ¥otad, 245t /2l =, A-A,
iAE &R 0|=E ENAW6060

=W 0}2a);
oiZE, QInhE Rt Arst 212
oizdm, Mallold ol Eatasl 28, HH

a2 chals b ME 2l 4 70| 2T
HEX7I UZ. HAEHE &

ol Eot tl*74 M YEE /IXIE R E.
AxMolod =2 18 AgF9 sliE Z8H
9M=| P HE °+771| 3=

N
A - 40mm _‘
1'! o =
vy
g — 1 <+
0 |
m
T
L_ D 28_=4i
== L e
F——1€0)-
Z5 29
SE218
FEHS 2R P ES EH A B B1 D H L 3=
718 A N
K0221.1801 EE= odnf o A3 &2 180 30 20X2 M8x30 55,5 210 1000
K0221.2001 ot=[0|E oo & Mst X2 200 30 20X2 M8x30 55,5 230 1000

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
== =1 = | -
u= dAE A E2 SHE M3 7} US0|E FE g
EZS 29
FEHS RN ES A A B B1 D H L 3=
7|12 S| N
K0221.2501 EEEl= Ao} ol A3 R E 250 30  20X2 M8x30 55,5 280 1000
K0221.3001 g20|E 4o} 2l S &2 300 30 20X2 M8x30 55,5 330 1000
K0221.3501 o200 odo} 2l AFS}E &2 350 30 20X2 M8x30 55,5 380 1000
K0221.4001 A2 0lE oot 2 Atst x 2 400 30 20X2 M8x30 55,5 430 1000
K0221.5001 420 odo} 2l S &2 500 30  20X2 M8x30 55,5 530 1000
K0221.6001 o200 odo} 2l AFSE &2 600 30  20X2 M8x30 55,5 630 1000
K0221.1802 d20lE gl AHAH 180 30  20X2 M8x30 555 210 1000
K0221.2002 420 g+ x| HH 200 30  20X2 M8x30 55,5 230 1000
K0221.2502 o200 HESEN 2L 250 30  20X2 M8x30 55,5 280 1000
K0221.3002 20 X HH 300 30 20X2 M8x30 55,5 330 1000
K0221.3502 420 B+ X| HH 350 30  20X2 M8x30 55,5 380 1000
K0221.4002 o200 HESEN 2L 400 30 20X2 M8x30 55,5 430 1000
K0221.5002 g20lE B+ X| HH 500 30  20X2 M8x30 55,5 530 1000
K0221.6002 420 B+ x| HH 600 30  20X2 M8x30 55,5 630 1000
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



